H(ITI)-Economics—H-6A

2017
ECONOMICS — HONOURS
Sixth Paper
(Group - A)

Full Marks - 50

Candidates are required to give their answers in their own words as far as practicable
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The figures in the margin indicate full marks

Section - A

1. Answer any five questions :

(a) Explain the nature of development gap prevailing at present between
developed and less developed countries.

(b) Distinguish between mercantilism and industrial capitalism.

(c) Mention any two causes of economic crisis faced by Great Britain
during the Great Depression of 1930s. S

(d) Mention the main functions of the World Bank.

(¢) Indicate two principal components of development planning in a
mixed economy.

(f) What do you mean by unequal exchange? Who propounded it?

(g) Regional Trading Blocks are classified into four categories. What
arc they?

(h) Indicate two major reasons behind the economic crisis in Argentina,

Section - B

2.  Answer any three questions :

(a) Describe how the Western European Capitalism transformed the
third world countries. Do you think Neo classical economists can offer any
explanation to the problems faced by todays Third World?

(b) Explain the argument why priority was laid on heavy
industrialisation in Soviet Union during the early phase of development planning.

(c) Do you think that Washington Consensus on development policy
has limited applicability in developing countries? In this context discuss the relevance
of the New Consensus and the role of State.

(d) Examine the major issues in the debate on the role of Multinational
Corporations in developing countries.

(¢) Do you think that export promotion is a better strategy than import
substitution for industrial development in less developed countries? Explain.

4%5

6+4

10

545

10

10



	IMAG0476.JPG
	IMAG0477.JPG

